Preparation Questions for the Midterm Exam

1. J. P. Morgan common stock is currently selling at $100 per share, which represents a P/E ratio of 10. If the firm has 100 shares of common stock outstanding, a return on equity of 20%, and a debt ratio of 60%, what is its return on total assets (ROA)?

Answer: 8.0% 

2. Assume that a 15-year, $1,000 par value bond pays interest of $37.50 every 3 months. If you require a nominal annual rate of return of 12%, with quarterly compounding, how much should you be willing to pay for this bond (approximately)?  

Answer: $1,207.5

3. Denis Rodman Inc. has a project which has the following cash flows:

Year
Cash Flow   Computed PV
 0
-$300.00            -300
 1
  100.00
   86.96
 2
  125.43
   94.84
 3
   90.12
   59.26
 4
     ?

What cash flow will the project have to generate in the fourth year in order for the project to be balanced with a discount rate of 15%?

SOLUTION

First calculate the present values of all the cash flows by

Clicking on CMPD

Enter in I% = 15

N=Year
FV = Cash Flow of year

Then 300 –(86.96+94.84+59.26) = 58.95

Which is the PV of the last cash flow

Compute the FV of it by  CF = PV*(1+r)^4 = 103.10 or 58.95*(1+.15)^4 =
Answer: $103.10

4. Bearcats Inc. recently reported net income of $385,000. The tax rate is 40%. The company’s interest expense was $200,000. What would have been the company’s net income if they would have been able to double their operating income (EBIT), assuming that the company’s tax rate and interest expense remain unchanged?

Answer: $890,000 

5. You hold a diversified portfolio consisting of a $5,000 investment in each of 20 different common stocks.  The portfolio beta is equal to 1.15. You have decided to sell one of your stocks, a lead mining stock whose beta is equal to 1.0, for $5,000 net and to use the proceeds to buy $5,000 of stock in a steel company whose beta is equal to 2.0.  What will be the new beta of the portfolio?

Before:

P = (% of Port not including sold * R) + (% of Port containing sold stock * 

P = ((19/20)* R) + ((1/20) * 
1.15 = 0.95(R) + 0.05(1.0)

0.95(R) = 1.10

R = 1.158

After: P = 0.95(R) + 0.05(2.0) = 1.10 + 0.10 = 1.20.Answer: 1.20

6. Assume you are to receive a 20-year annuity with annual payments of $50. The first payment will be received at the end of Year 1, and the last payment will be received at the end of Year 20. You will invest each payment in an account that pays 10%. What will be the value in your account at the end of Year 30?

Answer: $7,427.83

7. A project with a 3-year life has the following probability distributions for possible end-of-year cash flows in each of the next three years:

                    Year 1____       

    Year 2   ____     

    Year 3______

                Prob  Cash Flow  

 Prob  Cash Flow   

Prob  Cash Flow
                0.30    $300      

0.15    $100      

0.25    $200

                0.40    $500      

0.35    $200      

0.75    $800

                0.30    $700      

0.35    $600      

                                  


0.15    $900

Using an interest rate of 8%, find the expected present value of these uncertain cash flows. 

Answer: $1,347.61

8. You are willing to pay $15,625 to purchase a perpetuity which will pay you and your heirs $1,250 each year, forever. If your required rate of return does not change, how much would you be willing to pay if this were a 20-year, annual payment, ordinary annuity instead of a perpetuity?


Solution: To find your yield to maturity, Perpetuity value = PMT/I.

So, 15625 = 1250/I. I = 0.08

The answer to the final part, using a financial calculator:

Click on CMPD

N = 20; I = 8; PMT = 1250; FV = 0

Compute PV : PV = 12,272.69
Answer: $12,273

9. A 6-year bond which pays 8% interest semiannually sells at par ($1,000). Another 6-year bond of equal risk pays 8% interest annually. Both bonds are non-callable and have a face value of $1,000. What is the price of the bond which pays annual interest?


SOLUTION


For 1st bond



N=6*2=12



FV=1000



Payment= (8%/2)*1000=40



Compute Return Rate = 40/1000



Semiannual bond’s annual return = 40+40*(1+4%) =81.6



Current yield is 81.6/1000 = 8.16%


For the annual bond, the annual return should be the same:



R=8.16%



N=6



FV=1000



Payment=80



Compute PV by



Click on CMPD Enter above and 


Compute PV =$992.64 = Price
Answer: $992.64

10. An investment pays you 9% interest compounded semiannually. A second investment of equal risk, pays interest compounded quarterly. What nominal rate of interest would you have to receive on the second investment in order to make you indifferent between the two investments?

Answer: 8.90%

11. You are holding a stock, which has a beta of 2.0 and is currently in equilibrium. The required return on the stock is 15%, and the return on an average stock is 10%. What would be the percentage change in the return on the stock, if the return on an average stock increased by 30% while the risk-free rate remained unchanged? 

Answer: +40%

12. You just purchased a 15-year bond with an 11% annual coupon.  The bond has a face value of $1,000 and a current yield of 10%. Assuming that the yield to maturity of 9.7072% remains constant, what will be the price of the bond 1 year from now?

Solution:

YTM = 9.7072%

Current Yield = 10%

Coupon = 11% Interest Amount = 1000 * .11 = 110
At current yield of 10% (0.1), price is 110/0.1 = $1100

During the year earn 9.7072 on 1100 (1100*9.7072%) = 106.78

Of this interest amount is $110, the remaining would be the reduction price

Total return is 106.78

The price will be reduced by 110-106.78 =3.33

The price at the end of year 1 would be 1100-2=1097
Answer: $1,097

13. The returns of United Railroad Inc. (URI) are listed below, along with the returns on "the market" and T-bills: 

                            Year   _URI_     _Market_     T-Bills

                              1       12%           12% 
      7%

                              2       20%           16%
      7%

If the required return on URI's stock is 10%, what is the required return on the market? Assume the market is in equi​librium. 

Hint: Instead of using the regression equations, you can easily find the beta as the slope of the linear line, representing the relationship between URI (on the vertical axis) and Market (on the horizontal axis) returns.

Answer: 8.5%. 

14. Parnes Industries is expanding its operations throughout the Northeast United States.  Parnes anticipates that the expansion will increase sales by $1,500,000, and increase the costs of goods sold by $800,000. Depreciation expenses will rise by $100,000 and interest expense will increase by $200,000. The company’s tax rate will remain at 40%. If the company’s forecast is correct, how much will net income increase or decrease, as a result of the expansion?

Answer: $240,000 increase
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